

## Chap 6

, 1

$$\frac{\partial T}{\partial t} = \alpha \frac{\partial^2 T}{\partial x^2}$$

6-1

•

$$\frac{\partial T}{\partial t} = \alpha \frac{\partial^2 T}{\partial x^2}$$

$$x=0, t>0 \quad T = T_0$$

$$x \rightarrow \infty, t>0 \quad T \rightarrow T_i$$

$$x \geq 0, t=0 \quad T \rightarrow T_i$$

$$\theta = \frac{T - T_0}{T_i - T_0}$$

$$\frac{\partial \theta}{\partial t} = \alpha \frac{\partial^2 \theta}{\partial x^2}$$

B.C.'s

$$\theta(0, t) = 0 \quad \text{and} \quad \theta(\infty, t) = 1$$

I.C.

$$\theta(x, 0) = 1$$

$$\xi = \frac{x}{2\sqrt{\alpha t}}$$

chain rule

$$\frac{\partial \theta}{\partial t} = \frac{\partial \theta}{\partial \xi} \frac{\partial \xi}{\partial t} = \frac{\partial \theta}{\partial \xi} \left( -\frac{\xi}{2t} \right)$$

$$\frac{\partial \theta}{\partial x} = \frac{\partial \theta}{\partial \xi} \frac{\partial \xi}{\partial x} = \frac{\partial \theta}{\partial \xi} \left( \frac{1}{2\sqrt{\alpha t}} \right)$$

$$\frac{\partial^2 \theta}{\partial x^2} = \frac{\partial}{\partial x} \left( \frac{\partial \theta}{\partial \xi} \frac{\partial \xi}{\partial x} \right) = \frac{\partial}{\partial \xi} \left( \frac{\partial \theta}{\partial \xi} \frac{\partial \xi}{\partial x} \right) \frac{\partial \xi}{\partial x} = \frac{\partial^2 \theta}{\partial \xi^2} \left( \frac{1}{2\sqrt{\alpha t}} \right)^2$$

$$\frac{\partial \theta}{\partial \xi} \left( -\frac{\xi}{2t} \right) = \alpha \frac{\partial^2 \theta}{\partial \xi^2} \left( \frac{1}{4\alpha t} \right)$$

$$\frac{\partial^2 \theta}{\partial \xi^2} + 2\xi \frac{\partial \theta}{\partial \xi} = 0$$

$\theta$  가  $\xi$

가 .

$$\frac{d^2 \theta}{d\xi^2} + 2\xi \frac{d\theta}{d\xi} = 0$$

$$\theta(0) = 0 :$$

$$\theta(\infty) = 1 :$$

$$P = \frac{d\theta}{d\xi}$$

$$\frac{dP}{d\xi} + 2\xi P = 0$$

$$P = C_1 \exp(-\xi^2)$$

$$\theta = C_1 \int \exp(-\xi^2) d\xi + C_2$$

$$\theta = \text{erf}(\xi)$$

$\xi$

●

$$x=0, t>0 \quad -k \frac{\partial T}{\partial x} = q_0$$

$$x \rightarrow \infty, t>0 \quad T \rightarrow T_i$$

$$x \geq 0, t=0 \quad T \rightarrow T_i$$

$$\theta = \frac{T - T_i}{\sqrt{\alpha t} q_0 / k}$$

$$\frac{\partial \theta}{\partial t} + \frac{1}{2} \frac{\theta}{t} = \alpha \frac{\partial^2 \theta}{\partial x^2}$$

B.C.'s

$$\frac{d\theta(0,t)}{dx} = -\sqrt{\alpha t} \quad \text{and} \quad \theta(\infty, t) = 0$$

I.C.

$$\theta(x, 0) = 0$$

가

$$\frac{\partial^2 \theta}{\partial \xi^2} + 2\xi \frac{\partial \theta}{\partial \xi} - 2\theta = 0$$

$$\frac{d\theta(0)}{d\xi} = -1 \quad :$$

$$\theta(\infty) = 0 \quad :$$

$$\theta = \frac{2}{\sqrt{\pi}} \exp(-\xi^2) + 2\xi [\operatorname{erf}(\xi) - 1]$$

●

$$x=0, t>0 \quad -k \frac{\partial T}{\partial x} = h(T - T_\infty)$$

$$x \rightarrow \infty, t>0 \quad T \rightarrow T_i$$

$$x \geq 0, t=0 \quad T \rightarrow T_i$$

$$\theta = \frac{T - T_\infty}{T_i - T_\infty}$$

$$\frac{\partial \theta}{\partial t} = \alpha \frac{\partial^2 \theta}{\partial x^2}$$

B.C.'s

$$\frac{d\theta(0,t)}{dx} = -\frac{h}{k}\theta \quad \text{and} \quad \theta(\infty,t) = 0$$

I.C.

$$\theta(x,0) = 0$$

가

$$\frac{\partial^2 \theta}{\partial \xi^2} + 2\xi \frac{\partial \theta}{\partial \xi} = 0$$

$$\frac{d\theta(0)}{d\xi} = -\frac{k}{h} 2\sqrt{\alpha t} \quad :$$

$$\theta(\infty) = 0 \quad :$$

$$, \quad \frac{k}{h} \sqrt{\alpha t}$$

6.3

6-2. ,

●

6.4 (a)

$$\frac{\partial T}{\partial t} = \alpha \frac{\partial^2 T}{\partial x^2}$$

$$x=0 \quad \frac{\partial T}{\partial x} = 0$$

$$x=L \quad -k \frac{\partial T}{\partial x} = h(T - T_\infty)$$

$$t=0 \quad T = T_i$$

$$\theta = \frac{T - T_\infty}{T_i - T_\infty}, \quad X = \frac{x}{L}, \quad Bi = \frac{hL}{k} \quad \text{and} \quad \tau = \frac{\alpha t}{L^2}$$

(Bi=Biot

.)

$$\frac{\partial \theta}{\partial \tau} = \frac{\partial^2 \theta}{\partial X^2}$$

$$X=0 \quad \frac{\partial \theta}{\partial X} = 0$$

$$X=1 \quad \frac{\partial \theta}{\partial X} = -Bi\theta$$

$$\tau = 0 \quad \theta = 1$$

, 6.4(b) 6.4(c) 가 .

6.4(c) Bi가 가 . Biot 가 가 .

t, x 6.4(b)

t , 6.4(c)

6.5 ( 0 ) t

●  
가